[&AK]

[{RHEHE]

[#R#0%3C]

(#2H5E]

(K4 Xid4#5]

[ER X A EFEH]

[#MEHEBRELER]

(2R ]

[RHFRUHRRAEORE (#)]

[ HHE]

EEHLEEF No.l
EE2THRD6HE2HE

MRMEBRE

747 VT BERAS 2
RERITER PRIl IS \K =%

RAEHSBERE/FANTAIE 1§ KU AIMT—

R 18466 H 30 H

FRE 184 T H 18 B

14

Z Dfl



%1 (RFRICET 55E]

BITSH DL B IERIT

Stka—F 8544

L% - [EERO3I et

EARAESERT | R R

FIEFTEH FEAHPREELR1THUEUS

#2 [BHEF BT 5]
1 [#RHE (RERAE) / 1]

1) [BHEOBME]

@ [#BEE (EEHFE]
A - EAOR EBA A
B XA 74T VT 4 BB SA
ERR LA ERTTEH T105-6019 WEEHMHERE/MAUTEELS MURFARFT—
IBR4A X4
BERT LA A7 #e

@ [BAOHE]
448 A
=3
gh¥E AR
EhRESCtERR

@ [BEAORE]
BIrsEAH RFn614E11A17H
R P—=R LI - B2 2307
WS T REHTE
BHENE IR EEERE L OF M5 R w3

@ (B LodE#kx]
B LoEKERUEYLES T4 FVTF A BEREESH UVRR 2T SA TR EK R
BEEE 03 (4560) 6281

(2) [RAEBEH]

MEOHELZREEROBRBIVCERR—ERNCESEERTILD,




(3) [EREBEHEORBEHEHFEONR]

O [FEHRFEOHK]

B2 RO 23 EIEAL

EE7TROIEIEE B

HBETLRDIEIFEE &

B (B0

8,226,000

PR THOMEIES: ()

FERTRMEHE &S (B

HBEMERESFV A~ FVF |

BRI THACAE S

PR BE FRAREAE 25

X HE IS MR

& H &

M 8,226,000

ERAREICLBELEZ LT
LD ERTIHESOR

REHKHFBOR (B
(K+L+M-N)

8,226,000

RHBERAOK
(A+B+C4D+E+F+G+H++])

@ [HHFERAEIE]

BITHEHRRE ()
(ERk 18 2E 6 H 30 A EE)

290,856,000

LREHED
BESRAFE (%)
{0 /(P+Q)X100)

2.83

EMoBERCERS ML
BREFREHE (%)

5.26

(1) [HEHFF BT RARRNSEELRRN]

Myl




